\

I

PG8D42

w
o

J___I

33

No.| description

quantity

quantity

1

74 |electrical machinery fan

1

75|panel assembly

76|wiring harness setting sheath

50|fuel tank weldment assembly

housing weldment assembly

51 |oil mark assembly

52|fuel pump

80|oil pressure alerting lamp

_29electromagnet washer

flexible shat unit

engine assistant support frame
lect: b

53|nozzle

81|circuitry setting sheath

54 high-pressure fuel pipe

82 |voltmeter KD-45

55|single-phrase electrical machinery assembly

56electrical machinery forepart cover
57 |selt-tapping locking screw
58|b|ot M8X20

fuel tank assembly

59|generator rotator

60|clip ring

33 cushion
34|sheath

61|pull-through shaft bolt washer

62 |pull-through shaft bolt M10X214

90|anode wiring terminal unit
91|cathode wiring terminal unit
92|bolt MEX20

93 |air switch
94 |air switch setting plate
95|oil pressure protection breadboard

45|screw

96 |instrument box rare cover
106 |sheath
107 [cushion

108]decorating board assembly

= e s s [ | s [ e e a fpa s o s e | | | | s [ [

35|screw M5X12 | 63|electrical machinery control plate
36}fuel tank cap joint assembly 64 |electrical machinery stator

37 |fuel filler screen 65|bolt M5

38fuel return pipe clip 66 |electrical machinery rare cover
39fuel return pipe 67 bolt MEX120

40{fuel filler pipe clip |_68|carbon brush

41 |fuel filler pipe 69|seli-tapping locking screw
42|nut M6 ifi

43|fuel tank switch assembly 71|generator serial number
44|a-ring 72|excitation AVR.

73|electrical machinery booting air cover

PR PR B PR () BN NG B () B PN G PR R SRS N FOU) PR B N SR EN SR B SRR M




